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o % 38 T gam  BEB |z | 7B | amm  BEB | nz
BAMER ST #six " BAMIR| TUT | zisi% "
Kb (BEE) =H1E ABr (BAE) % | NU083 | 28HET | 17,300 64% |&+:18500 | 45HFT | 17,200 64% |&+:18,400
BIEF NUogé [ 28HTBI | 17,100 65% | H:185500 458 | 17,000 65% | H:18,400




ES3 2A1H~28
BB EAH 2013/12/17__ ~
847°A 447 2/7 2/8 2/9 2/10 2/11
847°A | 447B | 847A | 4479B | 847°A | 847 B | 447A | 847B | 447°A | 347B
,E%Jk',ﬁ:ﬁriﬂ ,E%A:H‘JWE e | 2k | EE% | EEX | EEK | B85 | 28k  E5X | EE% | EEHE
KR (B87E) =h”tE | Kk (BEFE)F | Nuos3 | 28H%T | 458w | 18,500 | 18,400 | 18,500 | 18,400 | 17,300 | 17,200 | 17,300 | 17,200 | 17,300 | 17,200
RiEX NU086 | 28H%T | 45887 | 17,100 | 17,000 | 17,100 | 17,000 | 18,500 | 18,400 | 17,100 | 17,000 | 17,100 | 17,000




[R—/\—45 B 1 EEX(2A10B~28HKEFESY) JTA

EEMAR ;. 2013/12/17 ~

T4 2/12-2/28 2/10 2/11
B H S B H
= £ "ﬁgg"ﬂ EEE LoY | WE | B | EEE

KB (BEdE) =/1E | Kbz (B3FE)F | NU083 | 55 HAI 17,100 65% |#1:18,300 | 17,100 | 17,100
RiEX NU0s6 | 55881 | 16,900 65% | H:18,300 16,900 | 16,900




[SEEBI5 |28 EER(2HA1B~2801ESH)

JAL/JTA/RAC

2013/12/16
EEEAA 2013/12/17 ~
NP e
X V=00 RESH 2% ;_gjgg %;?ﬁ = 2/7 2/8 2/9 2/10 2/11
RED | XE -
HRECHHE) =8dh | ERCHR)HE | 4 (G8%) JAL |JTA/RAC 21,900 62%  |%:22,700, +:23,300, H:20,700 22,700 23,300 20,700 21,900 21,900
B 8 (FRE) [UTA/RAC]  JAL 20,500 65% | H:24,100 20,500 20,500 24,100 20,500 20,500
HROCHHE) =F/E | ZERCHR)HE | i (G55 JAL |JTA/RAC 20,100 68% |4 1:22,000, H:20,500 22,000 22,000 20,500 20,100 20,100
AiEH i (FRE) |UTA/RAC]  JAL 20,500 68% | H:23,500 20,500 20,500 23,500 20,500 20,500
K (R == [ KERUFF)FE | H#E G JAL |JTA/RAC 17,500 66% |2:18,500, £:19,700 19,700 19,700 18,600 18,600 18,600
BEo¥E & (BRE) | JTA/RAC|  JAL 17,200 67% | H:19,000 17,200 17,200 19,000 17,200 17,200
Kix (BEPR) == [ KR (EITE) F | H#E (FRER) | JAL/JTA |JTA/RAC 17,500 66% |£:18,500, +:19,700 19,700 19,700 18,600 18,600 18,600
BEoE ;P42 (FRER) | JTA/RAC| JAL/JTA 17,200 67% | H:19,000 17,200 17,200 19,000 17,200 17,200
KR (R =F[E | KERUFH) F | HEERFH) JAL [JTA/RAC 17,300 70% % +1:18,500 18,500 18,500 17,300 17,300 17,300
RIEX P42 GIRER) |JTA/RAC|  JAL 17,100 70% H:18,500 17,100 17,100 18,500 17,100 17,100
KB (BdE) =RiE | KB (BHdE) & | ;448 (BRER) | JAL/JTA | JTA/RAC 17,300 70% | 1:18,500 18,500 18,500 17,300 17,300 17,300
AlEH i (BRER) | JTA/RAC| JAL/JTA 17,100 70% | H:18,500 17,100 17,100 18,500 17,100 17,100
LR (hE) =21 |2EE (FI) K| 448 (FFH) JTA | JTA/RAC 21,400 62% & 1:22500 22,500 22,500 21,400 21,400 21,400
Bo¥ PR (BBER) | JTA/RAC|  JTA 21,500 62%  |%:21,900, £:19,800, H:23,900 21,900 19,800 23,900 21,500 21,500
2B (hE) =R1E |2EE (F ) X 48 (FFH) JTA | JTA/RAC 20,200 67% % 1:22500 22,500 22,500 20,200 20,200 20,200
AiEF i8IS |UTA/RAC|  JTA 20,200 67% |£:20,600, 1:18,600, H:22,500 20,600 18,600 22,500 20,200 20,200
fEE==10 & F 2 GRER) JTA | JTA/RAC 16,700 63% |&1:17,300, B:16,500 17,300 17,300 16,500 16,700 16,700
2o i8IS |UTA/RAC|  JTA 16,500 63% |%£:17,300, H:17,500 17,300 16,500 17,500 16,500 16,500
EE="1E 12 P (ARER) JTA |JTA/RAC 15,500 69% € 1:16,200, H:15,400 16,200 16,200 15,400 15,500 15,500
RIEX P42 GIRER) |UTA/RAC|  JTA 15,400 70% |£:16,200, H:16,300 16,200 15,400 16,300 15,400 15,400
HU==5 fif] LI F& 42 GRER) JTA [JTA/RAC 20,900 60% | 1:23,900 23,900 23,900 20,900 20,900 20,900
BEoHE i (BRE) [UTA/RAC]  JUTA 22,600 56% | H:25,600 22,600 22,600 22,600 22,600 22,600
FL=F/1E FITE:S fE GRER) JTA |[JTA/RAC 20,900 63% % 1:23,900 23,900 23,900 20,900 20,900 20,900
AiEH HEE (RS |JUTA/RAC|  JTA 20,900 63% | H:23,900 20,900 20,900 20,900 20,900 20,900




